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1. (6©) �ó�AÚó�B��¬�g¬Ç©O�1%Ú2%§yldA�ÚB���¬

©OÓ60%Ú40%��1�¬¥�ÅÄ���§uy´g¬§KTg¬´A�)

��VÇ´õ�º.

2. (6©) lê1, 2, 3, 4¥?���ê, P�X, 2l1, · · · , X¥?���ê, P�Y, K

�¯Y = 2ù�¯�u)�VÇ´õ�º

3. (8©) �X�VÇ¼ê�f(x) = (1 + θ)xθ, 0 < x < 1, u�b�H0 : θ = 5 ↔ H1 :

θ = 3. Tu��Ä½��X > 1/2, K�1�a�ØVÇÚ1�a�Ø�VÇ©O

�õ�º

4. (6©) ®��1"���ÝX(ü µcm)Ñl��©ÙN(µ, 1), l¥�ÅÄ�16�

"�, ���Ý�²þ��40cm, Kµ��&«m´õ�º.

5. (6©) �X ∼ N(µ, σ2), ��X1, · · · , Xn5goNX��|��, �¯c�õ�¯¦

�c
∑n−1

i=1 (Xi+1 −Xi)
2�σ2�Ã �Oº

6. (8©) ?11000gÕá­EÁ�, zgÁ�¥¯�Au)�VÇ�0.25, Á¯U

±95%�rº�y1000gÁ�¥¯�Au)�ªÇ�VÇ��Ø�Lõ�º

�. (20©) ��Å�þ(ξ, η)Ñl«�Dþ�þ!©Ù, Ù¥D´d��y = x, x = 0, y =

1¤�¤�«�. Á¦:

(1) (ξ, η)�éÜ�Ýp(x, y); (2) (ξ, η)�>��Ýp1(x)Úp2(y);

(3) ^��Ýp(x|η = y); (4) E(ξ|η = y).

o. (15©)<N¥,�ÄÏ�/�kn«, ©O´AA, Aa, aa, z�<�ÄÏ.��U�

ùn«/���. ^X = 0, 1, 2©OL«<�ÄÏ.�AA, Aa, aa. �oNX¥TÄÏ

�ÄÏ.VÇ©ÙXeL§Ù¥θ > 0���ëê.yldoN�ÅÄ�
100<§Ù

¥30�<äkÄÏ.AA, 40<�Aa, 30<�aa.

X 0 1 2

P θ2 2θ(1− θ) (1− θ)2

(1) ¦θ�Ý�Oθ1Ú4�q,�Oθ2; ¿©OO��A��O�"

(2) θ1 Úθ2´Ä´Ã �ºeÄ§�?�"

(3) �¯?����O@��k�º
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Ê. (10©)�
)I5Úå5én«a.��Ëµ��Ë!ÊÏ�ËÚç�Ë� Ðkv

k�É§©ON�
180 I¬Ú120 å¬�UÐ, �Xeêâ

��Ë ÊÏ�Ë ç�Ë

I5 49 31 100

å5 51 20 49

�¯I5Úå5éXn«a.��Ë� ÐkwÍ�Éíº(α = 0.05)

8. (15©) �'�#Îü«��é�þ�K�, ïÄöÀJ
¡È��!è1�^���

Ó�20¬/, ©O�^#Îü«��, ����þêâXeµ

Î�� 17 15 18 17 13 15

#�� 16 19 20 22 18 19

b�ü«����þ©OÑl��©Ù, �oNÕá
þ���þ��. Á�â±þ

êâ�äµ

(1) ü«���þ���´Ä��(α = 0.05)?

(2) #��¼��²þ�þ´ÄwÍ/puÎ��(α = 0.05).

N¹ ©Ù9© ê: Φ(0.897) = 0.815, u0.025 = 1.960, u0.05 = 1.645, t0.025(13) = 2.16,

t0.025(14) = 2.145, t0.05(13) = 1.771, t0.05(14) = 1.761, χ2
0.05(1) = 3.841, χ2

0.05(2) = 5.991,

F0.025(6, 7) = 5.119, F0.025(7, 6) = 5.695.
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